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2019/04/10
[HH & HET —L X kS R E TS99k | J5 9 F = |
4/21(12:30| KFFC 7 |VS| 0 [DAICEL Delsole X+ Delsole X F = AL AFFC
14:00|Delsole A F 6 [VS| 0 [SR’ 91 AFFC AFFC = %3G
15:30[ FFEH 54X 0 [vs| 2 [F. c/x—hy SR’ 91 SR’ 91 =

5/12]13:30|#;ZFC 0 [VS| 4 |F#ESC fEliZSC fEliZSC = EREI fEliEFC
15:00|fH:2SC 7 |vs| 2 [AcRROovF—/  |#EFC fEIEFC = £1G

5/19] 9:30[KFFC 4 VS| 1 [FFEESC DAICEL DAICEL - A4t |FFEESC
11:00|Delsole A F 7 [VS| 1 |DAICEL FHEESC FriESC = %1G
12:30/ACRROVF—/ 2 [VS[ 5 [F. C/x—hy fEliZSC fEiZSC =
14:00|f#;2SC 3 [VS| 0 [SR’91 FRIVITAX | FEHUFA4X -
15:30| FFfEH SR 8 [vsl 2 |#FEFC SR’ 91 SR’ 91 -

5/19]10:00|LLIZFC 2 VS| 1 [FCyL1a HILF3 HILF3 = FEEEIEY 7900 ILIBFC
11:30[ AL F3 0 [VS| 7 [T E LLIFC I FC -
13:00|7 VY-LARFV=T 0 VS| 1 |PIERROT FEH—T+—RFC|HEH—T1—XFC -

1430 FS =7 0 |vs| 5 |FEH—F4—XFC [TNI_LAFY=F [TINI)_LAFY=F =

5/26( 9:30[Delsole XF 2 |vs| 1 |#ESC fEliEFC fEliEFC = L)L Delsole XF
11:00[SR’ 91 3 |Vvs| 2 |{#EFC Delsole K F Delsole X F = %3G
12:30| KFFC 0 |vs| 1 |FiEHF4X ACRROVF—/|[ACRROVF—/ =
14.00|[ACRROVF—/ 6 VS| 2 [#FESC F. C/A\—hy F. C/A\—hy -

15:30[F. C/3\—h> 5 [vS| 2 [DAICEL FiESC FiESC =

5/26(10:00[A1JLF3 1 [VS| 1 |FRES—FT4—XFC [TM)=VAFV=T [TM)-LAFY=T = FEEBIRE) 79U |FHEY—T1—XFC
11:30[ T VY-LARFV=T 6 [vS| 3 |[BEFH—F FEEY—F(—AFC |y —FT—XFC -

13:00] | IBFC 11vs| 8 [T+ LTH= S BEFH =T -

6/2[10.00][ACRROVF—/ 4 [VS[ 3 [SR" 91 F. C/\—he F. C/\—he - iR 79V [SR791
11:30[ KA FFC 0 VS| 0 [F. C/x—Ry SR’ 91 SR’ 91 -
13:00|f#1;2SC 8 |vs| 1 |{#EFC Delsole X F Delsole X F =
14:30|Delsole K F 2 |vs| 3 |[FEESC fiEsc fiEsc =

6/9| 9:30|DAICEL 3 [VS| 0 |FFESC Delsole X+ Delsole X+ = TAI)L DAICEL
11:00|Delsole A F 7 [vs| o [#nEFC DAICEL DAICEL = %£1G
12:30|FEEH L SA4X 2 [vs| 1 [sR”91 fEliESC fEliESC -
14:00|f#;2SC 0 [vS| 1 |[F. C/x—R> ACRROVF—/ |[ACRROVF—/. =
15:30| AFFC 9 [vs| 0 [AcRROvF—/ [F. C/A—RY F. C/A—hy =

6/9[10:00[FCYL 1 2 |VS| 5 |TW-LAFY-T LLIIFC IIIFC = FIEHEET IV [FCUL L
11:30[LLIIBFC 7 [vs| 4 [hiLFa FCyLA FCyL A =
13:00|FEH =7 0 |VS| 14|+ LTHE PIERROT PIERROT -
14:30F 89 —F+—XFC [ 2 VS| 1 [PIERROT 2ZLTHE 2ZLTHE -

6/16] 9:30]F. C/x\—R> 6 |VS| 1 |{#EFC FEESC FEESC = ZLtJ)L |F. C/x—hy
11:00|f#;2SC 5 [VS[| 0 [FFESC F. C/\—7hy F. C/A—Ry - %1G
12:30|Delsole A F 2 |vs| 4 |[FEEHS4X DAICEL DAICEL -
14:00[ACRROVF—/ 5 |[VS| 1 |DAICEL AFFC AFFC -
15:30| KFFC 2 (VS| 0 [SR’ 91 ACRROVF—/[ACRROVF—/ =

6/23] 9:30|PIERROT 2 |VS| 5 [I#LTHE FEY —T1—AFC |#iEY—T1—AFC - Z4+t)L  |PIERROT
11:00|FCYL A1 (EHE) 0 |VS| 5 |#F##EH—FT1—XFC |[PIERROT PIERROT = $£1G
12:30|AJLF3 11|vs| 2 [BEH =7 TW-VRFY=F |TW)-VLAFY-F =
14:00[LLIIFFC 7 |vs| 2 [TV)-LEXFVZT FRIVFTAX | FEF 54X =
15:30| FFEH S/ 4 [vs| 1 [DAICEL LLIFC LLIFC -

7/7] 9:30|FREEHLSAX 6 |VS| 0 |f#ESC Delsole X F Delsole X F = 4t |@iESC
11:00|Delsole A F 4 |vs| 2 [AcRROUF—/  [#ESC fEliZSC = £1G
12:30]F. C/\—HR> 6 [vS| 1 |FRiESC fEEFC fEiEFC =
14:00| AFFC 6 |vsS| 0 |f#iEFC DAICEL DAICEL -
15:30/SR’ 91 3 |vs| 2 [DAICEL AFFC AFFC B

7/21]_9:30]/ACRROVF—/ 4 VS| 0 |#liZFC SR’ 91 SR’ 91 - L)L [ACRROVF—/
11:00[F. C/A\—R> 2 [VS[ 1 [SsR’ 91 ACRROVF—/[ACRROVF—/ - %£1G
12:30| AFFC 5 [VS| 0 [Delsole XF FRIFTAX | FBEFU 54X -
14:00| FFEEH L SA4X 2 |vs| 1 |FEESC DAICEL DAICEL -
15:30| 2 SC 6 [vs| 1 [DAICEL FiESC FiESC =

7/27]18:30|#;EFC 1 |VS| 5 [DAICEL PIERROT PIERROT = L)L AEERR

F44—[20:00[|LjIEFC 7 [vs| 0 [PIERROT HIRFC EIRFC = %2G

9/8| 9:30[FEFH =7 3 [VS| 5 |PIERROT FAEH —T1—RAFC|HilEH—T4—XFC - AL EEH=-T
11:00[LLIIBFC 1 |vs| 0 |#iEH—T—RXFC [BEHI=F EH -7 = £1G
12:30| T VY-LARFV=T 1|vs| 9 [DALTHE hILF3 HILF3 =
14:00[FCYL A1 1 |vs| 6 [ALF3 ZELTHE ZELTHE -

9/29| 9:30[7 NY-LAFY=T 1 [VS| 2 |FEH—FT+—XFC |[HILF3 HILF3 = L)L T V-V RFV=T
11:00|AJLF3 10|VS| 0 [PIERROT TWI)-VARFY=F |TW)-LRFY=F = £1G
12:30[LLIIKFC 10|vs| o0 [BEFHI =7 ZHILTHE 2AILTHE -
1400[FCyL 4 1VvS[ 17 |4 ILTHE LIBFC LLIBFC -

10/6] 9:30|FiEH>FAR 5 [VS| 2 [ACRROVF—/ KFFC KFFC = TA)L FEFUT4X
11:00| AFFC 4 |vs| 1 |#Esc FEF AR |FiEHLFSA4X - %1G
12:30|Delsole A F 2 [VS[ 1 [F. C/x—Ry SR’ 91 SR’ 91 -
14:00{SR’ 91 2 |vs| o |FEESC FCYyLA FCYLA -
15:30[FCYL AL 2 |vs| 1 [PIERROT FiESC FiESC -

10/20[10:00[ &1)—% —|vS[—=[BU—% Eme Eime EHe A4t BEZFFC
12:00|AJLF3 5 [VS| 4 [TW-LAFI-T B =7 BEFHI=7 = hILFa
13:30|FCYL A1 (EHE) 0 |vs| 5 |[EEFH =7 HhILF3 HhILF3 =
15:00|(Z=12) 0 |vs[ 5 [DxiTHE FCyL A FCyL A1 -
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